Subject: Number of observations
Posted by sarwat.shah on Mon, 04 Jan 2016 16:34:10 GMT

View Forum Message <> Reply to Message

| have a country data set for HIV biomarkers and | want to merge it with Household, Individual and
Male data sets but the problem is that the number of observations in the HIV data set are 19249
while the numbers in the Individual and Male data sets are 9171 and 7480 respectively.
Wondering why the number of observations in HIV data set doesn't match the sum of the
observations in the two other data sets?

Thanks
Shah

Subject: Re: Number of observations
Posted by Liz-DHS on Mon, 25 Jan 2016 17:51:03 GMT

View Forum Message <> Reply to Message

Dear User,
Could you please provide additional information? With which survey and year are you working?
Thank you!
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